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This is also logical — R92anon "1 %20

OVERVIEW

In our X773 up to 'X12non *n1 37, there were two questions and two answers.
The first Jwpn asked how is it that our mawn disagrees with 37 (and does not
even mention him).! The X3 replied that 3" concurs with our 71w» since it
1s a case of "2 °72. The second wpn asked, what was the question of the
first Jwpn originally; is it not obvious that there is a difference between °72
721 and X1 *12?! The X Ma replied that our 71wn 1s similar to a case of 72
X (that is why there was a question initially). After this discussion the
X3 concludes that n"17; logic dictates that this answer is not merely a
deflection, but rather that this explanation is necessary in order to understand
the 71wn properly. It is not clear to which answer the X773 is referring to,
when it states that n"17. Is it concerning the first answer, that 1"9 is 77 that
by *721 72 the woman is not 7aX1? Or it the n"17 coming to confirm the
second answer, that our 7I1wn 1s similar to a X»¥ >12. This is the basis of the
ensuing NP17mn between *"wa and NdDOIN.

- YNNI 1399 NINN PNINNT NIANDM ) 91 *0909Pa Y
It is explained in >'"w9 that the X773 means, it is indeed also logical that

our mw» concurs with the view of 3'"'9, who maintains that usually the woman is

believed (but only in cases of Xa¥1 *12), however we can reconcile 3" with our mawn —
= 9995 YWIN? 229 NN 2INPTN NN $93) 29227 19%VYNTI

as the X711 answers, that in a case of 12Y 592, as in our 7wn, then 1"
admits that the woman requires 07V to be believed; otherwise she cannot be
Tmn &2 on the basis of her claim alone, since she is opposed by a *2 nivw.”
The X723 offers proof that this is indeed so since the ;71w? teaches us that

"9 admits, etc. >"wn explains this as follows: The case in which " is 771, namely
"2 37 77w, has no real relevance here in M121n2 n2on. The question arises, why mention it
here at all. Its relevance here is understandable however, if we maintain that in the X"
of the 71wn (the case of A2 IRNIW 7WRT) 3" admits that the woman is not believed. It then
follows, that once the 71wn teaches us a situation wherein 2" is 777 to >, the 71wn also

''3"3 argues with "' in the first P12 concerning various disputes between the husband and wife. 3"

maintains that the woman is believed while " maintains that her testimony is not accepted.
Zsom At
? According to *"wA the »"37 confirms that 3"1 admits by a 121 2.
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teaches us another instance where °"9 is 77 to 3"1 (in the case of 171 77w). However, if
there is no 77 in the Xw™ (if 3" disagrees even by ™21 >12),* then why mention the case
of "1 177 (by 17 77w) which has no relevance to our 71wn. The »"17 proves that the XA
of the 71wn concurs with the opinion of 1"7; that even though generally the woman is
believed by a w"32, however since our case is a 21 *13, therefore "7 admits that she is
not believed. This is the interpretation of the X713 according to >"wA.

moon has a difficulty with this interpretation; specifically the proof that *"wn offers
concerning that 3" is 121 °722 77%:
= YYIN? 2297 NTINY 929V NN NN HNITNI 129 99N NI 197 1WA NYUP

And there is a difficulty with his interpretation; that the X713 intends to
proof that 3"7 is »121 "33 77w, for even if 3" was not involved in

admitting; the '777Y' of >''1 would be properly cited in the mwn; even if we do
not assume that "9 is °321 7122 777, but rather that he may argue on the X of the mwn,
and maintain that even 121 ™22 the woman is nx3,” nevertheless the citing of >"1 77Mm

would be well understood —
= 9 NI NOYDA THY NINDO NYIIAT ) DY 9N 919995

it would mean to say, that even though that in the Xw>9 of 7o KRNI AWK,
I (°"1) disagree with you (3"7); for *"7 maintains, as the 71w» states that she
requires 2°7¥ to be believed,6 while 2" maintains (as we are wont to assume
now) that she is believed (even by 1721 °72), nevertheless in the X230 of 77w

"2 71, I admit to you that the 1°» is effective and the buyer is X% the field from the
son of the Xnp &1 —

mooIn anticipates the obvious question (which is the basis of s""w" proof):

= PN 123919 10N NOYDY NWIIT 2) DY 9N
Even though the X2 (concerning 722K8nw WK1, where "1 3" argue by
121 "12) and the 820 (concerning 7 77w, where °" admits to 3" by 1) are
not the same topic (one is >721 ™2 and the other is 1); how can we justify that the
7Iwn cite an issue (12 17 77W) which is seemingly irrelevant. This in fact is the basis of the
s'R3 proof according to *"wA. Nevertheless, Mo01n claims that this irrelevance should

not pose a difficulty —
= 1122 INODMI)N 139 299N N YVINY 229 NTINY 99Y NP NINNT 30 9D

Just as "7 deems proper the citing of "9 77¥Y in our mwn if a"9 is

* This is what the first 1wpn assumed (because he considered it a w13, as the second 1¥7n suggested).

> This may be because he considers it similar to a w"1a (as the second 7¥7n explains) or because she has a
77302 NPTA, or MXW I M2IN2 2°W1 AN, etc.

® She cannot be 11 X°x1 (based on any of the reasons enumerated in the previous footnote # 5).
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involved in ‘admitting’; the citing of > is then acceptable in our mwn —

= YYIN? 5397 NI 12390 1N HNITNI 1297 NTINT ) HY 9N
Even though that the '779%' of 3'9 (concerning 79IRNIW W) is not the
same concept as the 777921 of 5''9. The 77 of 3"1 is concerning ™21 ™M3; however
the 77 of °"7 is concerning 2 (in addition to the difficulty that 7 77¥ is irrelevant to
mand). Nevertheless it is acceptable to >"wA, as long as there is some continuity; you are
777 to me, and I am 777 to you. The same can be said, even if 3"7 is not 771%; there is
still is a semblance of continuity. > is stating that even though we disagree here (by 7wX
79nIRNIY), nevertheless we agree somewhere else (by rmz;).7 The fact that w7 77v is
irrelevant to our 713w» should not pose a greater difficulty for this interpretation than it did
according to the interpretation of *"w9, where the two statements of 77 are equally
irrelevant to each other. nmoown argues that the basis of the proof according to >"w9,
namely the irrelevance of >"7 7711 to our 71w, is not improved upon even if 3"7 is A7,
The two 77 of >"M 2"7 are not on the same topic.

mooin offers an answer to justify the interpretation of >"wA:
= YYIND 229 NI 23V 25D TOOY DTN INIDNI 129 299N 9D INTIT YN U

And it is possible to answer this question on *"7; that we cannot compare
the irrelevance of 7 177w, if 3" 1s 777, to a situation where he is not 777; for
it is certain, that if »''9 is involved in a "7, then it is feasible to cite

properly that "1 is also 7% —
- 912993 THN PPN 9 NYT 23 Yy 9N

Even though the two 7Y are not of the same topic; meaning, that the

continuity lies not in similarity of the concepts, but rather —
= YYIN? 239 N NTINT RND 33 2N INIDM) 129 NINT NN NINT 2INT

That since the Xin taught us something in which A'"9 is 77, therefore it is

appropriate that the Xin also teach us something in which >''1 is 7172, There
isn’t merely a semblance of continuity, but rather there is a connection and similarity

between the two statements; they are both concerning 7711 —
= YYIND 229 NI 2NNIY 7Y ND NN HNIDNI) 129 999N NY IN Yan

However, if 3''9 is not involved in '77Y', then it is not appropriate for

the mwn to teach us ''"1 779 -
= AN 123919 DN NOYD) RYIIT 1199 NOYDA N7 NYIA 19T 2) DY N 119INYNY

to let us know that even though "1 argues in the Xw>9, nevertheless he
admits (to 3"7) in the X230 (71 77w); this is not appropriate since the w9 and
the X290 are not of the same topic. There is no connection and similarity at all

7 mooin is asserting that there is the same continuity from npYoms to 77 as there is from 77 to 777.
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between the X2 and the ®9°0, if there is no '\ 7379 in the xS

After m»doIn answered his (first) difficulty with >"w9, m901n finds an additional problem:
- 9’Ni7 MWAN 1991Y 1D NN RDT "YW HaN

However there is another difficulty with >"w2 w170 for the X713 should not

have said, in its refutation of the X72non 1"7, that °"7 is referring to . It
was not necessary for the X773 to inform us of this —
= INP NN IR DIVIPN YWINAY ) NNYN 1YY

For even until now; before the refutation, "7 was referring to »,

according to >"'w1B. The 77 of *" in the n"17 (even before the refutation) was that
" admits that the w» of "oRw 7157 1s effective. The refutation of the n"17, should state that
"7 is not referring to our P79, but rather to the previous p75. However concerning the
idea of 1n, there is no difference between the n"177 and the X1p0n; all agree that the 771
of °"1 is that a 1 of 70XWw 7197 is effective. Why does the X713 add that *Xp 12»2K; that was

known even to the n"13?!

mooin offers a different interpretation of the 1'"17:
=997 NPIYH 29257 NXIANDN 333 51 IWITD 1INT PNYY 139297 NI

And it appears to the >'"'1 that this is the interpretation of the n"17; the

logic also indicates that our miwn is similar to a X»@ 992, Even though the
husband claims 72 that T°nRWI 719K, nevertheless since MXW°I M?IN2 2°w1 21, he is
considered a X»w; his claim is weakened.

MooIN anticipates a possible misconception of his interpretation of the 1"17 and proceeds
to forestall it. It was necessary to claim that our 7I1w» is »7 ¥»w1 *722, in order to explain
the original question of 3"13 X7 ®1no 710 ’n°2.'% The assertion that our 7wn is M7 w"22,
lends credence to the assumption that 2" disagrees with our 71wn. When m»oin states that
the n"17 intends to support the contention that our 71wn is *»7 w12, it may be understood
that that the n"17 simultaneously supports the accompanying claim that 1" argues with
the 71wn. It is this misconception that N19010 will now clarify.

= YA DNODNI) 129 HD97 91919 XA XD

And the 1n"17 is not coming to assert that »''1 is arguing in the X@"9; that

¥ The continuity from a np19m» to a 77 is justified only if the NP> may lead one to think that the npmn
extends to the case of 77 In our situation, however, the fact that >" argues on 2"7 in the X1 concerning
721 13, does not lead us to think that he should not agree with 3", concerning 1oXw 71971 There is no need
for 771" In contrast, the continuity from 71771 to 77121 is always self-justified in any case.

? The xm3 refutes the »"17 saying; "Rp Xnp 1PR70RY 2RP IWAR RP 1R7°0 RAX °"1 0720 1. Our Mv0IN maintains
that the words *Xp 1K are superfluous according to *"w2s.

0 1If our mwn would be considered 7 *) 723, then obviously there is no reason to assume that 3"9, who
believes the woman in cases of w'"12, should argue with our 71wn, which requires 2>7¥ by °721 2.
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since we consider it "3, therefore 3" would believe the woman without a>7v. This is not

SO —
= NIN UNN RNDY INDT DIVN HNIDN) 129 NN 997 NNYI 29257 ) HY N NOHN

But rather the n"177 is coming to prove, that even though that our 71w» is
like a case of @', nevertheless a'"9 admits that the woman is not

believed'' because it is not an actual X»w; the husband is claiming 2 that 9%
7nRw1. The 217 cannot render his 71¥Y into an actual X»w. The X713 continues to prove
this assertion (according to N1voIN), that 3"7 is 77 even though it is similar to (but not
actually) a w"2 —

= YVHIN? 229 DTN MNP

Since the 71w states: 5" 775 this proves that 3" is 77 by a (quasi) w"3, as

the X continues —
= 17991 YNIYN) 129 99N NNV NN IN

It is well understood why the 71wn states *"1 7711 if you assume that 3''9 is

involved in a '77%' situation; he is admitting to something —
- NI AT INOYNI 139 NI ST NIWY 59357 23 Yy 9N Fmvs

This ‘admitting’ means to say that even though the Xw"1 of the mwn is
similar to a w'"a situation (on account of the "> mMYN2 w1 aM),

nevertheless 3'' admits that the husband is believed (even though he is

similar to a Xaw). If we are to assume this 771", then —
= PAN) 92 YNNAT YWIN? 229 DT INPT 1IN

This is what the mw» teaches us by stating °'"9 7373, namely that even
though "9 generally does not accept the 72 over the X»w, nevertheless by
this 592 (of 17 77W), the "M is believed to retain the field.

mooIn anticipates the need to interject a clarification at this point. Seemingly the reason
"3 is 77 by 7 77W is not because of X»w1 *13, but rather on account of 131. Why is n1901n
saying that >"7 77711 on account of w"12?! M0 explains:

= D902 W97 1PN 1IN NTT RNYI 93 DIVN YWIN? 2297 NIYLT PRYT XPHOY
For it entered our minds at this point that the reason that "9 is 770 is

because of X=wy 93 since the son is not demanding the field” as 3"

" The n"37 is asserting that it is necessary to consider our 73w like a X1 *12 case, not only to justify the
question of the first 7wpn; but rather (more importantly) to explain the continuity of the miwn.

"2 The 'y%5' is asserting that we are not merely interested that 3" is 777 in the X@™ (since it is a *21 *72);
but rather that he is 771 despite that it is similar to a w"12 situation.

" It will be necessary to interpret (according to this X"7) that when the 7w states that 797 X177 0K 7197
°naw; this means that the X»w of the son is based on the admission of the >73; that "1 2R v v 77w,
therefore °"7 agrees that 77y "72. However, in the X»w1 "2 cases of WX P79, there is no NOXY 797; it is
known without the *72 of the WX that ‘something’ occurred. Alternately see (v MR 717 N210) 2pY° N°2.
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interpreted the mawn.'* If it is a case of W2 7197 PX, then the most logical reason why
»"1 believes the 2 is because the defendant is a xnw."
= 4PN 12392 YWINY 9927 NI HNIDNN 1297 NI NN RHYM)

And now that the 7791 of 2" is that even though the X7 is similar to a
w3, nevertheless 3" is 771 that 7°7v >72 Y; and the 77 of > is that by
W2IN 790 PR we also say that 7>7v °73, then the 7' of 3'"9 (concerning

¥v"12) and the 77 of '3 are in the same topic; both are discussing xnw1 >72.
The 71wn then is justified in citing > 771.

The &773 continues with its proof:
= 93 INIDNIN 129 299N RDI NIN 9902 9929 9932 XYY NN IN NON

However, if you will maintain not like the »"177 (that our mawn is "»7 w"22),
but rather that the X9 is an absolute 921 592 (since the husband is actually
claiming *72); the consequences of such an assumption is that 3''9 is not

involved in ‘admission’ —
= 779 NI HNODN) 139 19D NDT NID 9929 9927 11997 NLIVOY

For it is obvious that the woman is not believed even according to 3"9; for
since (as we are now assuming) that the X7 is a 9921 >92, then 3" would
not argue; it would be inappropriate to term this 777, He is not admitting
anything. 3'"7 only discussed "2, not *721 *72. Obviously he maintains that

by *721 *72 we require 2°7v. If that is the case what is the "9 77732 doing in
our 71wn; it has no relevance here. This is the proof of the »n"17 according to mdoin.

The &7723 continues and refutes the proof of the 1'"17:
= NAYIY 92 DIV YWIN? 2297 NNRYDI IRP NYIIN N0 ' 9IRPY

And the X 1) says, who led you to think that °"1 is referring to the Xw»s9;

to the purported 7712 of 37, and the reason of 5''9 is because of @w''13; it is

not so —
OINP NAP PPN 1IN nraRrid N PANI NI DIVN YWIN? 2299 NNRYOT INP IMIN

He is referring to a % in his 77», for the reason of "9 (by 7 77W) is
because he has a »; not because the 72 is a xnw,'® and the buyer is
believed even if the son demands the field back, nevertheless the 12» is

' See previous 7711 7"7 2,10 A7 Moo, In truth Moo disagrees with *"wA, for the mawn is discussing even a
case of w0 127, However in this ™17 even moon agrees that the X713 thought the case of 7 77w is only by
1w 777 7K, which makes the claim of the 12 a Xnw nivv. See ‘Thinking it over’ # 2.

' After the claimant states 121 722X X9w 3 777w, the son claims that perhaps you never bought it.

' See “Thinking it over’ # 3.
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effective and "1 is referring back to the first ?95. In the first 779 we find that
*"3 does not give credence to a 2; however in this 137 of 17 77w, even *"7 admits that it is
an effective 1n.

SUMMARY
*"w1 is of the opinion that the n"17 is proving that "7 1s °321 >332 77%. MB2OIN
insists that the n"177 1s proving that 39 is 7777 in a case that 1s similar to ¥"2.

THINKING IT OVER
1. What is the (essential) difference between maoin (first) question on >"wA,
and the 2w v~?

2. Mo maintains that the n"17 was of the opinion that " 7791 1s
discussing a case of Wwan 797 PR."” Seemingly there is a difficulty with that
assumption; how will the n"17 answer NvOIN question18 that if it is 777 PX
w210, the m1wn should have concluded that 381 11°R 1210 OR), instead of oK)
TARIPR 13 o7y wo!

3. According to '01n the n"17 assumed that *" 77771 is referencing a case of
Xn1 72 (thereby proving that the Xw™ is also X»w1 °72). When the X973
refuted the n"17, why was it necessary (even according to '01n) to say MK
>Xp (that the >"27 771 is not regarding w"2);*° why is it not sufficient to say
RP X1p P70, where we are also discussing case of w2

17 See footnote # 14.

18 See 7711 1" 2,70 MdON.
19 See "1 X"wmn.

20 See footnote # 16.

2l See w"wn.
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